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Chapter 4 New Vocabulary




Mary-san does not watch TV very much.
« XTYU—=ZAlZ. HFY TLEZ &H
T A,

Takeshi-san does not go to the library at all.

e 72T LEAIE. ELENAIC BAE

N A WEFEHA,
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\’ B T < 71— é * Yamada-san sometimes wakes up at 6am.
LY, c OFRIAE, EEEE THA K
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John-san usually comes to school at 9am.
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* We will eat dinner at 7pm.

C: Li/\/ : T 73: c IFATITA L, ECRFIZCIERE T,
/\/ T@_ 75\ ? e Today, | will not study.

(What do you say cE Sk NAE LS LERA,
* This evening, | will go to bed 11pm.
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in Japanese?): the
underlined word « We don’t go to school on weekend.
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Extending an invitation

~FEBADN?
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Accepting/declining an invitation

e 2 2. 1 by all means.)
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* With a specific time expression...

. ~2 7
* The particle (Z becomes optional!
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“About”




Chapter 4

* Telling things/people where
they are

* A new sentence structure
* Past Activities
* More Verbs
* More expressions
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Days of the
week

* Monday

e Tuesday

* Wednesday
* Thursday

* Friday
 Saturday

* Sunday
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DML, WDHE D
I, D, DO,
ML, XD HD

Which one would

you use for the
following nouns? (CP
. 4-1)
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Which verb goes with these nouns? e

same noun may go with two verbs) (CP p. 4-1)
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Word Search (CP p. 4-2)

* This is where you buy groceries. A==
* These days, you can use a phone but in the past you used
a camera for this. Le LA

* You do this in places like shopping malls, department

stores, etc. R
* When you really become sick, or you need to see a \
specialist, you go this place. GsEo LA
* These are very common pets (find two words). N - T
* When students need money, they do this. TS A R
* Many college courses require students to do this, LAk

sometimes along with exams.
* Sometimes, we spend the whole night doing this activities. 7—4



Odd man out: which word not belonging

to the group? (CP p. 4-2)
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Odd Man Out: which word does not belong to the group?
Why? (CP p. 4-2)
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Chapter 3 Kanji Quiz

Using Hiragana correctly, write the
ronunciation of each of the following
anji expressions.

(1pt.+3pts.+2pts.+2pts.+2pts.+3pts.)
1. PYU4a At L"4th year student”

2. 7T “6000 yen”
3. /\@ “800"

4. 7173 “90,000”

5. 1K “10 o'clock”
6. —+=*"23"

« Which F _
underlined Kaniji? _ Answer with
alphabet. (2pts.x5)
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pronunciation is correct for the

a. 3%b. LH

a. KA b. £ c L
a. < b.A»>
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a. 0 < b. %L
c. M%<



